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#~ : ~~1t 11-/ 
~~ aM: 7 ~ 26 a(I.M1m) ~ 2 ip ~~~# 2 A~' 2 J( 

~-$f7} 1Iti~1i (60%), (~W1.iilir9i1f~fi, ~~f&Jm 
Jm~~ft~~~_-J{, Hli!JJJi~m~~~, ~+J!, ~/J' 
&7\Jt) : 
1. *~~~1i 

, JX2 + 12 4
Ilm--­
x-+2 X - 2 

&3• -q 

-3 if x < -1 

f(x) = ~x + b if - 1 < x < 1 
{ if x 1.

* a, b if1f1~ f ~Jm*JID9~ 0 

4. ~ f(x) = (x l)X, :sJ<2J1t 1'(1) 0 

5. **,j~m:1f 
r xtan(5x) 
x~ sin2 (7r2x) . 

6. ~ f(x) = 2x3 (x - 5)2. * f(x) 8"Jfi3jff~*,j*if 0 

7. *.t&~ 
00 (2x + l)n
L--=­
n=l viii 

8. *a±lm z = x 2+ y2 1:E!I~ (1,1,2) 8"Ji:JJ3fOO1ffiJ:t 0 

9. *ll:5J"1i JL(x +y2)dA 

JJt~ D ~~ (0,0), (1,0) 1!<. (0, 1) ~nUi~8"J=1fj%[I~ 0 

10. :sJ<i?Ei1t f(x, y) = x3 - y3 - 2xy + 6 8"Jfi3jif~*,1*1i~::EmJZ!l~~~ 0 
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~UJ1l : J!.'..:r.., ~'f"Jl1t.-::-~ta.. *"" e : {j&~~ I I -'~.,......,-.­

~=f$1J} ~_m~11 (40%), (fjl_~fi~'_1.im~, }[ 
1l1.i~~/f'~7t, ~Im., ~/J\II+7t) : 

J3x2 - 5x + 2 d 
3x + 1 x. 

2. 1'F1il 
2x - 3

Y= .
x-2 

3. B~Q 2X2 + y2 = 1, 1£ffl Lagrange Multipliers lfr:i:*~. f(x,y) = 3xy &trti::k 
fi~Ii/J\fi 0 

4. B9m D 1#; z = 1 - y, y = x2 II z = 0 JiJrlllZ1La~±~, *llt1Lft~:l:.!!1 D Za 
~o 
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